#### **TABULATION**

### IFB 09-0043DS 65TH AVE WEST DRAINAGE PIPE REPLACEMENT FROM 12TH STREET TO 5TH STREET WEST

				Adkins Contracting, Inc. P.O. Box 189 Ruskin, FL 33575 813-649-9750		P.O. Box 743 Venice, FL 34284 941-485-7799		6212 33rd Street E. Bradenton, FL 34203 941-756-6760		Forsberg Construction, Inc. 6475 Golf Course Blvd. Punta Gorda, FL 33982 941-637-8500		Bennett Contracting, Inc. 6029 33rd St. E. Bradenton, FL 34203 941-756-8200		Gator Grading & Pav 4220 15th St. E. Bradenton, FL 34208 941-751-3900	
ITEM	DESCRIPTION	U/M	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	BID "A" - Based on Completion														
	Time of 180 calendar days														1
101-1	Mobilization	LS	1	\$24,900.00	\$24,900.00	\$33,500.00	\$33,500.00		\$22,200.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$125,000.00	\$125,000.00
	Maintenance of Traffic	LS	1	\$2,000,00	\$2,000.00	\$4,950.00	\$4,950.00		\$1,176.00	\$1,800.00	\$1,800.00	\$9,000.00	\$9,000.00	\$20,700.00	\$20,700.00
	Baled Hay or Straw (Addendum														ĺ
104-10	12/2/08	LF	0	\$8.00	\$0.00	\$10.00	\$0.00	\$8.00	\$0.00	\$15.00	\$0.00	\$5.50	\$0.00	\$25.00	\$0.00
	Staked Silt Fence	LF	0	\$4.50	\$0.00	\$2.50	\$0.00	\$1.00	\$0.00	\$2.00	\$0.00	\$2.50	\$0.00	\$15.00	\$0.00
110-1	Clearing & Grubbing	LS	1	\$12,600.00	\$12,600.00	\$18,275.00	\$18,275.00		\$5,833.00	\$25,000.00	\$25,000.00	\$39,000.00	\$39,000.00	\$24,200.00	\$24,200.00
	Removal of Existing Structures														1
110-3	(Catch Basins)	EΑ	5	\$1,200.00	\$6,000.00	\$1,114.00	\$5,570.00	\$701.00	\$3,505.00	\$600.00	\$3,000.00	\$1,800.00	\$9,000.00	\$1,075.00	\$5,375.00
120-1	Regular Excavation	LS	1	\$5,000.00	\$5,000.00	\$18,675.00	\$18,675.00		\$4,986.00	\$3,000.00	\$3,000.00	\$18,900.00	\$18,900.00	\$81,950.00	\$81,950.00
162-2	Top Soil (6" Thick)	SY	4800	\$3.00	\$14,400.00	\$6.00	\$28,800.00	\$1.20	\$5,760.00	\$1.00	\$4,800.00	\$7.75	\$37,200.00	\$2.35	\$11,280.00
425-11	Drainage Structure (Grate Inlet)	EA	5	\$6,000.00	\$30,000.00	\$3,940.00	\$19,700.00	\$4,750.00	\$23,750.00	\$8,000.00	\$40,000.00	\$4,590.00	\$22,950.00	\$3,755.00	\$18,775.00
430-141-000	Install 42" Class III	LF	888	\$175.00	\$155,400.00	\$91.00	\$80,808.00	\$125.00	\$111,000.00	\$110.00	\$97,680.00	\$144.00	\$127,872.00	\$142.00	\$126,096.00
430-141-000	Install 29" X 45" RCP Class III	LF	896	\$175.00	\$156,800.00	\$110.00	\$98,560.00	\$139.00	\$124,544.00	\$130.00	\$116,480.00	\$144.00	\$129,024.00	\$150.00	\$134,400.00
580-332-2	Tree Removal	EΑ	25	\$1,200.00	\$30,000.00	\$1,740.00	\$43,500.00	\$588.00	\$14,700.00	\$300.00	\$7,500.00	\$1,200.00	\$30,000.00	\$2,140.00	\$53,500.00
575-1-1	Sodding (Bahia)	SY	4800	\$4.00	\$19,200.00	\$2.00	\$9,600.00	\$1.20	\$5,760.00	\$2.00	\$9,600.00	\$2.00	\$9,600.00	\$1.30	\$6,240.00
1600-900-26	Remove Existing Pipe (20" or More)	LF	1800	\$4.00	\$7,200.00	\$13.00	\$23,400.00	\$17.00	\$30,600.00	\$10.00	\$18,000.00	\$20.00	\$36,000.00	\$13.00	\$23,400.00
	Pumping and Dewatering	LS	1	\$18,000.00	\$18,000.00	\$25,925,00	\$25,925.00		\$10,588.00	\$28,000.00	\$28,000.00	\$18,000.00	\$18,000.00	\$13,525.00	\$13,525.00
	Miscellaneous Work & Cleanup	LS	1	\$11,500.00	\$11,500.00	\$31,293,00	\$31,293,00		\$41,871.00	\$18,000.00	\$18,000.00	\$27,000.00	\$27,000.00	\$29,410.00	\$29,410.00
	Remove Existing Fence	LF	3600	\$3.00	\$10,800.00	\$2.40	\$8.640.00	\$6.00	\$21,600.00	\$2.00	\$7,200.00	\$2.70	\$9,720.00	\$2.45	\$8,820.00
	Install Temporary Chain Link Fence and Removal of Temporary Fence (Location to be Coordinated with														
	each Property Owner)	LF	3600	\$2.00	\$7,200.00	\$2.75	\$9,900.00	\$6.00	\$21,600.00	\$2.00	\$7,200.00	\$3.06	\$11,016.00	\$2.85	\$10,260.00
	Install Permananent Replacement Fence, Chain Link (Addendum 12/2/08)	LF	1800	\$6.00	\$10,800.00	\$9.00	\$16,200.00	\$29.00	\$52,200.00	\$8.00	\$14,400.00	\$9.90	\$17,820.00	\$9.15	\$16,470.00
	Install Permananent Replacement Fence, Wood Fence (Addendum 12/2/08)	LF	1800	\$6.00	\$10.800.00	\$14.20	\$25,560.00	\$29.00	\$52,200.00	\$13.00	\$23,400.00	\$15.54	\$27,972.00	\$14.50	\$26,100.00
	Subtotal			1	\$532,600.00		\$502,856.00		\$553,873.00		\$475,060.00		\$610,074.00		\$735,501.00
	Contingency	LS	1		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00
	TOTAL BID PRICE				\$577,726.00		\$547,982.00		\$598,999.00		\$520,186.00		\$655,200.00		\$780,627.00

### **TABULATION**

## IFB 09-0043DS 65TH AVE WEST DRAINAGE PIPE REPLACEMENT FROM 12TH STREET TO 5TH STREET WEST

				Kuxhausen Construc P.O. Box 21087 Sarasota, FL 34276-4 941-379-6603		Kimmins Contracting 1501 Second Ave. Tampa, FL 33605 813-248-3878	Corp.	MasTec 7221 Dr. Martin Luthe Tampa, FL 33619 813-621-0881	r King Jr. Blvd. E	Peter A. Basile Sons 5149 SW Hwy 17 Arcadia, FL 34266 863-993-2588	·	Stately Contractors, 6028 33rd St. E. Bradenton, FL 34203 941-756-4700		Westra Construction P.O. Box 1149 Palmetto, FL 34221 941-723-1611		Woodruff & Sons, Inc P.O. Box 10127 Bradenton, FL 34282 941-756-1871	
ITEM	DESCRIPTION	U/M	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	BID "A" - Based on Completion											1					
	Time of 180 calendar days																
101-1	Mobilization	LS	1	\$40,000.00	\$40,000.00	\$39,050.00	\$39,050.00	NO BID	NO BID	\$43,899.62	\$43,899.62	\$20,000.00	\$20,000.00	\$47,000.00	\$47,000.00	\$27,281.20	\$27,281.20
102-1	Maintenance of Traffic	LS	1	\$2,000.00	\$2,000.00	\$1,185.00	\$1,185.00	NO BID	NO BID	\$4,087.00	\$4,087.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$549.96	\$549.96
	Baled Hay or Straw (Addendum														****	00.00	
104-10	12/2/08	LF	0	\$2.50	\$0.00	\$8.40	\$0.00	NO BID	NO BID	\$8.00	\$0.00	\$3.00	\$0.00	\$6.00	\$0.00 \$0.00	\$8.00 \$2.00	\$0.00 \$0.00
104-13	Staked Silt Fence	LF	0	\$5.00	\$0.00	\$1.60	\$0.00	NO BID	NO BID	\$1.20	\$0.00	\$1.00	\$0.00	\$2.00 \$7,000.00	\$7,000.00	\$2.00 \$11,859.41	\$11,859.41
110-1	Clearing & Grubbing	LS	1	\$20,000.00	\$20,000.00	\$24,647.00	\$24,647.00	NO BID	NO BID	\$43,345.41	\$43,345.41	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$11,009.41	\$11,009.41
	Removal of Existing Structures							110 010	NO BID	\$699.21	\$3,496.05	\$1,000.00	\$5,000.00	\$850.00	\$4,250.00	\$639.25	\$3,196,25
110-3	(Catch Basins)	EA	5	\$500.00	\$2,500.00	\$2,093.00	\$10,465.00	NO BID	NO BID	\$10,665.75	\$3,496.05	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00	\$5,729.98	\$5,729.98
120-1	Regular Excavation	LS	1	\$4,000.00	\$4,000.00	\$54,210.00	\$54,210.00	NO BID NO BID	NO BID	\$6.21	\$29.808.00	\$3,000.00	\$14,400.00	\$2.50	\$12,000.00	\$1.38	\$6,624.00
162-2	Top Soil (6" Thick)	SY	4800	\$0.10	\$480.00	\$7.25	\$34,800.00 \$66,200.00	NO BID	NO BID	\$2,630.90	\$13,154.50	\$5,000.00	\$25,000.00	\$4,300.00	\$21,500.00	\$4,632.17	\$23,160.85
425-11	Drainage Structure (Grate Inlet)	EA	5	\$4,000.00	\$20,000.00	\$13,240.00	\$96,792.00	NO BID	NO BID	\$105.62	\$93,790.56	\$145.00	\$128,760.00		\$109,224.00	\$123.74	\$109,881.12
430-141-000	Install 42" Class III	LF	888	\$100.00	\$88,800.00	\$109.00 \$123.00	\$110,208.00	NO BID	NO BID	\$98.28	\$88,058.88	\$92.00	\$82,432.00	\$135.00	\$120,960.00	\$137.87	\$123,531.52
430-141-000	Install 29" X 45" RCP Class III	LF	896	\$200.00	\$179,200.00			-	+	· · · · · · · · · · · · · · · · · · ·				\$210.00	\$5,250.00	\$1,116,53	\$27,913.25
580-332-2	Tree Removal	EA	25	\$500.00	\$12,500.00	\$573.00	\$14,325.00	NO BID	NO BID	\$817.52	\$20,438.00	\$200.00	\$5,000.00		†		<del></del>
575-1-1	Sodding (Bahia)	SY	4800	\$1.50	\$7,200.00	\$2.15	\$10,320.00	NO BID	NO BID	\$1.53	\$7,344.00	\$2.00	\$9,600.00	\$1.95	\$9,360.00	\$2.34	\$11,232.00
1600-900-26	Remove Existing Pipe (20" or More)	LF	1800	\$5.00	\$9,000.00	\$30.01	\$54,018.00	NO BID	NO BID	\$8.36	\$15,048.00	\$20.00	\$36,000.00	\$9.00	\$16,200.00	\$4.80	\$8,640.00
	Pumping and Dewatering	LS	1	\$10,000.00	\$10,000.00	\$7,863.00	\$7,863.00	NO BID	NO BID	\$21,929.35	\$21,929.35	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00	\$6,073.14	\$6,073.14
	Miscellaneous Work & Cleanup	LS	1	\$7,000.00	\$7,000.00	\$14,224.00	\$14,224.00	NO BID	NO BID	\$8,684.05	\$8,684.05	\$11,000.00	\$11,000.00	\$11,000.00	\$11,000.00	\$60,364.91	\$60,364.91
ļ	Remove Existing Fence	LF	3600	\$0.10	\$360.00	\$4.70	\$16,920.00	NO BID	NO BID	\$2.59	\$9,324.00	\$4.00	\$14,400.00	\$1.90	\$6,840.00	\$0.98	\$3,528.00
-	Remove Existing Fence		3000	ψ0.10	4000.00	<b>V</b>	V.13,122										
	Install Temporary Chain Link Fence and Removal of Temporary Fence (Location to be Coordinated with each Property Owner)	LF	3600	<b>\$</b> 0.25	\$900.00	\$2.95	\$10,620.00	NO BID	NO BID	\$2.71	\$9,756.00	\$4.00	\$14,400.00	\$3.00	\$10,800.00	\$2.44	\$8,784.00
	Install Permananent Replacement Fence, Chain Link (Addendum		0000	ψ0.20	4000.00												
	12/2/08)	LF	1800	\$0.25	\$450.00	\$11.60	\$20,880.00	NO BID	NO BID	\$3.12	\$5,616.00	\$22.50	\$40,500.00	\$19.00	\$34,200.00	\$8.93	\$16,074.00
	Install Permananent Replacement						1					1					1
	Fence, Wood Fence (Addendum												****	644.00	#05 000 00	614 10	\$25,524.00
	12/2/08)	LF	1800	\$0.25	\$450.00	\$26.50	\$47,700.00	NO BID	NO BID	\$8.23	\$14,814.00		\$36,000.00		\$25,200.00 \$469,384.00	\$14.18	\$25,524.00
	Subtotal			1	\$404,840.00		\$634,427.00		NO BID		\$443,259.17		\$466,492.00		\$469,384.00 \$45,126.00		\$479,947.59 \$45,126.00
	Contingency	LS	1 1		\$45,126.00		\$45,126.00	NO BID	NO BID	<b></b>	\$45,126.00	4	\$45,126.00		343,120.00	_	\$45,120.00
	TOTAL BID PRICE			1	\$449,966.00		\$679,553.00	NO BID	NO BID		\$488,385.17		\$511,618.00	) [	\$514,510.00		\$525,073.59

#### **TABULATION**

## IFB 09-0043DS 65TH AVE WEST DRAINAGE PIPE REPLACEMENT FROM 12TH STREET TO 5TH STREET WEST

				Adkins Contracting, I P.O. Box 189 Ruskin, FL 33575 813-649-9750	nc.	Dejonge Excavating P.O. Box 743 Venice, FL 34284 941-485-7799	Contractors, Inc.	E.T. MacKenzie of FI 6212 33rd Street E. Bradenton, FL 34203 941-756-6760		Forsberg Construction 6475 Golf Course Blvo Punta Gorda, FL 3398 941-637-8500	I.	Bennett Contracting, 6029 33rd St. E. Bradenton, FL 34203 941-756-8200		Gator Grading & Pav 4220 15th St. E. Bradenton, FL 34208 941-751-3900	
ITEM	DESCRIPTION	U/M	EST. QTY.	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
	BID "B" - Based on Completion														
	Time of 240 calendar days								000 000 00	\$50,000.00	\$50,000.00	\$30,000,00	\$30,000,00	\$75,000.00	\$75,000.00
101-1	Mobilization	LS	1	\$24,900.00	\$24,900.00	\$33,500.00	\$33,500.00		\$22,200.00	\$1,800.00	\$1,800.00	\$9,000.00	\$9,000.00	\$20,700.00	\$20,700.00
102-1	Maintenance of Traffic	LŞ	1	\$2,000.00	\$2,000.00	\$4,950.00	\$4,950.00		\$1,176.00	\$1,800.00	\$1,800.00	\$9,000.00	\$9,000.00	\$20,700.00	\$20,700.00
	Baled Hay or Straw (Addendum							40.00	***	\$15.00	\$0.00	\$5.50	\$0.00	\$25.00	\$0.00
104-10	12/2/08	LF	0	\$8.00	\$0.00	\$10.00	\$0.00	\$8.00	\$0.00 \$0.00	\$15.00	\$0.00	\$2.50	\$0.00	\$15.00	\$0.00
104-13	Staked Silt Fence	LF	0	\$4.50	\$0.00	\$2.50	\$0.00	\$1.00		\$2,00	\$25.000.00	\$39,000.00	\$39.000.00	\$24,200.00	\$24,200.00
110-1	Clearing & Grubbing	LS	1	\$12,600.00	\$12,600. <u>00</u>	\$18,275.00	\$18,275.00		\$5,833.00	\$25,000.00	\$25,000.00	\$39,000.00	\$39,000.00	\$24,200.00	\$24,200.00
	Removal of Existing Structures								*******	*****	\$3,000.00	\$1,800.00	\$9,000.00	\$1,075.00	\$5,375.00
110-3	(Catch Basins)	EA	5	\$1,200.00	\$6,000.00	\$1,114.00	\$5,570.00	\$701.00	\$3,505.00	\$600.00		\$1,800.00	\$18,900.00	\$81,950.00	\$81,950.00
120-1	Regular Excavation	LS	1	\$5,000.00	\$5,000.00	\$18,675.00	\$18,675.00		\$4,986.00	\$3,000.00	\$3,000.00	\$18,900.00	\$37,200.00	\$2.35	\$11,280.00
162-2	Top Soil (6" Thick)	SY	4800	\$3.00	\$14,400.00	\$6.00	\$28,800.00	\$1.20	\$5,760.00	\$1.00	\$4,800.00		\$22,950.00	\$3,755.00	\$18,775.00
425-11	Drainage Structure (Grate Inlet)	EA	5	\$6,000.00	\$30,000.00	\$3,940.00	\$19,700.00	\$4,750.00	\$23,750.00	\$8,000.00	\$40,000.00	\$4,590.00	\$127,872.00	\$3,755.00	\$126,096.00
	Install 42" Class III	LF	888	\$175.00	\$155,400.00	\$91.00	\$80,808.00	\$125.00	\$111,000.00	\$110.00	\$97,680.00	\$144.00		\$150.00	\$120,090.00
430-141-000	Install 29" X 45" RCP Class III	LF	896	\$175.00	\$156,800.00	\$110.00	\$98,560.00	\$139.00	\$124,544.00		\$116,480.00	\$144.00	\$129,024.00 \$30,000.00	\$2,140.00	\$134,400.00
580-332-2	Tree Removal	EA	25	\$1,200.00	\$30,000.00	\$1,740.00	\$43,500.00	\$588.00	\$14,700.00	\$300.00	\$7,500.00	\$1,200.00		\$2,140.00	\$6,240.00
575-1-1	Sodding (Bahia)	SY	4800	\$4.00	\$19,200.00	\$2.00	\$9,600.00	\$1.20	\$5,760.00	\$2.00	\$9,600.00	\$2.00	\$9,600.00	\$1.30	\$6,240.00
4000 000 00	Remove Existing Pipe (20" or More)	LF	1800	\$4.00	\$7,200.00	\$13.00	\$23,400.00	\$17.00	\$30,600.00	\$10.00	\$18,000.00	\$20.00	\$36,000.00	\$13.00	\$23,400.00
1600-900-26	Pumping and Dewatering	LS	1	\$18,000.00	\$18,000.00	\$25,925.00	\$25,925.00	V	\$10,588.00	\$28,000.00	\$28,000.00	\$18,000.00	\$18,000.00	\$13,525.00	\$13,525.00
<u> </u>	Miscellaneous Work & Cleanup	LS	1	\$11,500.00	\$11,500.00	\$31,293.00	\$31,293.00		\$41,871.00	\$18,000.00	\$18,000.00	\$27,000.00	\$27,000.00	\$29,410.00	\$29,410.00
	Remove Existing Fence	LF	3600	\$3.00	\$10,800,00	\$2.40	\$8,640.00	\$6.00	\$21,600.00	\$2.00	\$7,200.00	\$2.70	\$9,720.00	\$2.45	\$8,820.00
	Install Temporary Chain Link Fence and Removal of Temporary Fence (Location to be Coordinated with each Property Owner)	LF	3600	\$2.00	\$7,200.00	\$2.75	\$9,900.00	\$6.00	\$21,600 <u>.00</u>	\$2.00	\$7,200.00	\$3.06	\$11,016.00	\$2.85	\$10,260.00
	install Permananent Replacement Fence, Chain Link (Addendum														
	12/2/08)	LF	1800	\$6.00	\$10,800.00	\$9.00	\$16,200.00	\$29.00	\$52,200.00	\$8.00	\$14,400.00	\$9.90	\$17,820.00	\$9.15	\$16,470.00
	Install Permananent Replacement Fence, Wood Fence (Addendum 12/2/08)	LF	1800	\$6.00	\$10,800.00	\$14.20	\$25,560.00	\$29.00	\$52,200.00	\$13.00	\$23,400.00	<b>\$15.54</b>	\$27,972.00	\$14.50	\$26,100.00
	Subtotal				\$532,600.00		\$502,856.00		\$553,873.00		\$475,060.00		\$610,074.00		\$685,501.00
	Contingency	LS	1		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00		\$45,126.00
	TOTAL BID PRICE				\$577,726.00		\$547,982.00		\$598,999.00		\$520,186.00		\$655,200.00		\$730,627.00
	Acknowledge Addendum 1	1			Yes		Yes		Yes		Yes		Yes		Yes
	N			<b>!</b>	Yes		Yes		Yes		Yes		Yes		Yes
	Acknowledge Addendum 2	0.0000000		1	None will be		163		None will be		None will be				
	Subcontractor Percentage			l	utilized		Yes		utilized		utilized		Yes		Yes
	The Florida Trench Safety Act				Yes		Yes	1	Rec'd 1-5-09		Yes	<b>_</b>	Yes		Yes
	Contractor's Questionnaire				Yes		Yes		Yes		Yes		Yes	_	Yes
	Drug Free Work Place Certification				Yes		Yes		Yes		Yes	<b></b>	Yes		Yes
	Public Contracting and				Yes		Yes		Yes		Yes		Yes		Yes
	Environmental Crimes Certification	1000000		<u> </u>	Yes		Yes		Yes		Yes		Yes		Yes
<b></b>	Bonds Included	personalitation				P-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1	Yes		Yes		Yes		Yes		Yes
	Site Visit Confirmed	1		1	Yes	<u> 1</u>	Yes	<u> </u>	j res	B	1 163	# 000000000000000000000000000000000000	<u> </u>	h,,	1 100

TABULATION

# IFB 09-0043DS 65TH AVE WEST DRAINAGE PIPE REPLACEMENT FROM 12TH STREET TO 5TH STREET WEST

BID "B" - Based on Completion   Time of 240 calendar days   S40,000.00   \$40,000.00   \$39,050.00   \$39,050.00   \$0.00   \$0.00   \$1,185.00   \$1,185.00   \$0.00   \$0.00   \$1,185.00   \$0.00   \$1,185.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.0	EXTENDED PRICE  20,000.00 \$20,000.00 2,000.00 \$2,000.00 \$3.00 \$0.00 \$1.00 \$0.00 5,000.00 \$5,000.00	\$47,000.00 \$1,600.00 \$6.00 \$2.00	\$47,000.00 \$1,600.00	\$27,281.20 \$549.96	PRICE \$27,281.20
BID "B" - Based on Completion   Time of 240 calendar days   State of Traffic   LS   1   \$40,000.00   \$40,000.00   \$39,050.00   \$39,050.00   \$39,050.00   \$0.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00   \$1,185.00	\$2,000.00 \$20,000.00 \$2,000.00 \$2,000.00 \$3.00 \$0.00 \$1.00 \$0.00	\$47,000.00 \$1,600.00 \$6.00	\$47,000.00 \$1,600.00	\$27,281.20	
Time of 240 calendar days  101-1 Mobilization  LS 1 \$40,000.00 \$40,000.00 \$39,050.00 \$39,050.00 NO BID NO BID NO BID \$43,899.62 \$43,899.62 \$20,000.00 \$1,185.00 \$1,185.00 NO BID NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$1,185.00 NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$1,185.00 NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$2,000.00 \$1,185.00 \$1,185.00 NO BID NO BID \$8.00 \$0.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.	2,000.00 \$2,000.00 \$3.00 \$0.00 \$1.00 \$0.00	\$1,600.00 \$6.00	\$1,600.00		\$27,281.20
Time of 240 calendar days  101-1 Mobilization  LS 1 \$40,000.00 \$40,000.00 \$39,050.00 \$39,050.00 NO BID NO BID NO BID \$43,899.62 \$43,899.62 \$20,000.00 \$1,185.00 \$1,185.00 NO BID NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$1,185.00 NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$1,185.00 NO BID NO BID NO BID \$40,087.00 \$2,000.00 \$2,000.00 \$2,000.00 \$1,185.00 \$1,185.00 NO BID NO BID \$8.00 \$0.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.	2,000.00 \$2,000.00 \$3.00 \$0.00 \$1.00 \$0.00	\$1,600.00 \$6.00	\$1,600.00		\$27,281.20
101-1   Mobilization   LS   1   \$40,000.00   \$40,000.00   \$39,050.00   \$39,050.00   NO BID   NO BID   \$43,899.62   \$43,899.62   \$43,899.62   \$42,000.00   \$1,185.00   NO BID   NO BID   NO BID   \$40,000.00   \$2,000.00   \$1,185.00   NO BID   NO BID   \$40,000.00   \$40,087.00   \$2,000.00   \$2,000.00   \$1,185.00   NO BID   NO BID   NO BID   \$60,000   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,00	2,000.00 \$2,000.00 \$3.00 \$0.00 \$1.00 \$0.00	\$1,600.00 \$6.00	\$1,600.00		\$27,281.20
10 -1   Maintenance of Traffic   LS   1   \$2,000.00   \$2,000.00   \$1,185.00   \$1,185.00   NO BID   NO BID   \$4,087.00   \$4,087.00   \$2,000.00   \$2,000.00   \$1,185.00   NO BID   NO BID   \$4,087.00   \$4,087.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$2,000.00	\$3.00 \$0.00 \$1.00 \$0.00	\$6.00		\$549.96	4
Baled Hay or Straw (Addendum   LF   0	\$1.00 \$0.00		60.00		\$549.96
104-10         12/2/08         LF         0         \$2.50         \$0.00         \$8.40         \$0.00         NO BID         NO BID         \$8.00         \$0.00           104-13         Staked Silt Fence         LF         0         \$5.00         \$0.00         \$1.60         \$0.00         NO BID         NO BID         \$1.20         \$0.00           110-1         Clearing & Grubbing         LS         1         \$20,000.00         \$24,647.00         \$24,647.00         NO BID         NO BID         \$43,345.41         \$43,345.41         \$5           Removal of Existing Structures	\$1.00 \$0.00			***	00.00
104-13 Staked Silt Fence LF 0 \$5.00 \$0.00 \$1.60 \$0.00 NO BID NO BID \$1.20 \$0.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.0		1 \$2.00 I	\$0.00	\$8.00	\$0.00 \$0.00
110-1 Clearing & Grubbing LS 1 \$20,000.00 \$20,000.00 \$24,647.00 NO BID NO BID NO BID \$43,345.41 \$43,345.41 \$50,000.00 Removal of Existing Structures	5,000.00   \$5,000.00		\$0.00	\$2.00 \$11,859.41	\$11.859.41
Removal of Existing Structures Science Control of Existing Structures NO RID NO RID Science Science Science Control of Existing Structures Science Control of Existing Science Control		\$7,000.00	\$7,000.00	\$11,059.41	\$11,039.41
	1.000.00 \$5.000.00	\$850.00	\$4,250.00	\$639.25	\$3,196.25
110-3 (Catch Basins) EA 5 \$300.00 \$2,300.00 \$10,400.00 Re 20 20 20 75 20 20 20 75	1,000.00 \$5,000.00 5,000.00 \$5,000.00	\$13,000,00	\$13,000.00	\$5,729,98	\$5,729.98
120-1 Regular Excavation LS 1 \$4,000.00 \$34,210.00 \$34,210.00 \$34,210.00 \$34,210.00	\$3.00 \$14,400.00	\$2.50	\$12,000.00	\$1.38	\$6,624.00
162-2 Top Soil (6" Thick) SY 4600 \$0.10 \$460.00 \$7.25 \$64,660.00 \$1.25 \$64,660.00 \$1.25	5,000,00 \$25,000.00	\$4,300,00	\$21,500.00	\$4,632,17	\$23,160.85
425-11 Drainage Structure (Grate Inlet) EA 5 \$4,000.00 \$20,000.00 \$13,240.00 \$00,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00 \$10,200.00	\$145.00 \$128,760.00	\$123.00	\$109,224.00	\$123.74	\$109,881.12
430-141-000 Install 42" Class III LF 888 \$100.00 \$68,600.00 \$103.00 \$60,702.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00 \$103.00	\$92.00 \$82,432.00	\$135.00	\$120,960.00	\$137.87	\$123,531.52
430-141-000 Install 29" X 45" RCP Class III	\$200.00 \$5,000.00	\$210.00	\$5,250.00	\$1,116.53	\$27,913.25
580-332-2 Tree Removal EA 25 \$300.00 \$12,300.00 \$0.00 R. NO RID \$1.53 \$7.744.00	\$2.00 \$9,600.00	\$1.95	\$9,360.00	\$2.34	\$11,232.00
575-1-1 Sodding (Bahia) SY 4800 \$1.50 \$7,200.00 \$2.15 \$10,320.00 NO BID NO BID \$1.53 \$7,344.00					
	\$20.00 \$36,000.00	\$9.00	\$16,200.00	\$4.80	\$8,640.00
1000-900-20   Relifiove Existing Fige (20 of Micro)   21 1000   40.00   47 000 00   Micro)   40 000 00   40 000 00   40 000 00   40 000 00	12,000.00 \$12,000.00	\$14,000.00	\$14,000.00	\$6,073.14	\$6,073.14
Pumping and Dewatering         LS         1         \$10,000.00         \$10,000.00         \$7,863.00         \$7,863.00         NO BID         NO BID         NO BID         \$21,929.33         \$21,929.33         \$1,929.33         \$1,929.33         \$1,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         \$21,929.33         2	11,000.00 \$11,000.00	\$11,000.00	\$11,000.00	\$60,364.91	\$60,364.91
Remove Existing Fence   LF   3600   \$0.10   \$360.00   \$4.70   \$16,920.00   NO BID   NO BID   \$2.59   \$9,324.00	\$4.00 \$14,400.00	\$1.90	\$6,840.00	\$0.98	\$3,528.00
Remove Existing Fence Li 0000 \$0.10					
Install Temporary Chain Link Fence and Removal of Temporary Fence					
(/ ocation to be Coordinated with					60 704 00
(Location to be Coordinated with   LF   3600 \$0.25 \$900.00 \$2.95 \$10,620.00 NO BID NO BID \$2.71 \$9,756.00	\$4.00 \$14,400.00	\$3.00	\$10,800.00	\$2.44	\$8,784.00
install Permananent Replacement					
Fence. Chain Link (Addendum		240.00	#24 000 00	\$8.93	\$16,074.00
12(2)08) LF 1800 \$0.25 \$450.00 \$11.60 \$20,880.00 NO BID NO BID \$3.12 \$5,616.00	\$22.50 \$40,500.00	\$19.00	\$34,200.00	\$6.93	\$10,074.00
install Permananent Replacement			1		
Fence, Wood Fence (Addendum	\$20.00 \$36,000.00	\$14.00	\$25,200.00	\$14.18	\$25,524.00
12/2/08) LF 1800 \$0.25 \$450.00 \$20.50 \$47,100.00 RC SIS	\$466,492.00		\$469.384.00	<b>VIII.10</b>	\$479,947.59
Subtotal 9404,040,000 9007,427.00 100 PD 100	\$45,126.00		\$45,126,00		\$45,126.00
Contingency LS 1 443/120.00					
TOTAL BID PRICE \$449,966.00 \$679,553.00 NO BID NO BID \$488,385.17	\$511,618.00		\$514,510.00		\$525,073.59
Acknowledge Addendum 1   Yes   Yes   NO BID   NO BID   Yes	Yes		Yes		Yes
Acknowledge Addendum 2 Yes Yes NO BID NO BID Yes	Yes		Yes _		Yes
Acknowledge Addendant 2	None will be				None will be
Subcontractor Percentage Yes Yes NO BID NO BID Yes	utilized		Yes		utilized
The Florida Trench Safety Act Yes Yes NO BID NO BID Yes	Yes		Yes		Yes Yes
Contractor's Questionnaire Yes Yes NO BID NO BID Yes	Yes		Yes	<b> </b>	Yes
Drug Free Work Place Certification   Yes   Yes   NO BID   NO BID   Yes	Yes	-	res	<u> </u>	169
Dublic Contracting and					<sub>Vs-</sub>
Environmental Crimes Certification Yes Yes NO BID NO BID Yes	Yes		Yes		Yes Yes
Ronds Included Yes Yes NO BID NO BID Yes	Yes Yes		Yes		Yes
Site Visit Confirmed Yes Yes NO BID NO BID Yes	Yes		Yes	J	1 169